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veterinary medicine
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The ligamentous apparatus of the sesamoid bones of the metacarpophalangeal joint includes:

Three ligaments
Five lizaments
Seven ligaments

Four ligaments

The suture between the temporal and parietal bones is called:

Sutura Squamosa
Sutura Serrata
Articulatio Temporimandibularis

Sutura Foliata

Aurticulatio temporomandibularis is considerated as complicated because:

It has three articular surfaces
It has four articular surfaces
There is no correct answer

It has an articular disc

The largest relative respiratory surface of the lungs is a characteristic of:

Pigs
Cattle
Dogs

Horses

What does the concentration of neuronal bodies in the central nervous system forms?

Ganglions
White medulla
Gray medulla

Merve ganglia
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Which type of synovial bursae does NOT exist?

O a  Axillary
) b. Subcutaneous
) ¢ Subcutaneous

) d. Interfacial

The lymphatic system provides:

) a. Protective function
2 b. Drainage function
i) ©. Lymphocytes entry into the bloodstream

i) d. All the answers are correct

Sebaceous gland ducts are usually open:

i a. Intoinfundibulum of the hair follicle
) b. Intothe sweat glands ducts
i) . Tothe surface of the epidermis

) d. Into subdermis

Typical cervical vertebrae by count are:

) a. Third, fourth, fifth

2 b. Third, fourth

O ¢ Third, fourth, fifth, sixth

) d. Third, fourth, fifth, sixth, seventh

What is the other name of the mitral valve?

) a. PBicuspidwvalve

0 b, Aortic semilunar valve

- .

2 o Pulmonary semilunar valve

O d. Tricuspid valve
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What bacterium causes porcine cysticercosis?

Bac pseudotuberculosis ovis
T. saginatus
Cysticercus cellulosae

T. avis

Choose at least two correct answers
Features of the veterinary-sanitary inspection of pig heads are:
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Such inspection is not carried out
Exclusion of anthrax by examining the submandibular nodes
Examination of the nasal cavity

Mandatory examination for finnosis of masticatory muscles

Choose the wrong answer
What are wild game animals whose meat is subject to testing for trichinosis?
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Wild Boar
Badger
Deer

Bear

Choose the wrong answer
The stockyard on meat processing plants is intended for:

Animal rest

Animal slaughter
Animal sortings
Livestock placements

Veterinary examination

What causes actinomycosis?
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Virus
Other
Bacteria

Fungus
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What anirnals are sent to the meat processing plant for forced slaughter?

]
)

[

a.
b.

Sick animals and animals suspected of contracting infectious diseases

Animals vaccinated with live vaccines within a certain period after vaccination
All animals in case of natural disasters

Injured animals that are at risk of death

Animals that have lost their economic value

Choose at least two correct answers

Why is there no heads inspection point on the small ruminants processing line?

O
O
]

]

a.
b.

C

d.

The heads of small ruminants are only used for the production of meat and bone meal
Heads sent for recycling

The heads of small ruminants are almost not affected by actinorycosis and
tuberculosis

Finnosis of sheep and deer does not bring any sanitary danger to humans

What is the luminescence color of good-quality beef?

[
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a.
b

Brown-vellow (tawry)

Rusty brown, very dark

From dark brown to red-brown
Light brown

Yellow-gray

Choose at least three correct answers

As aresult of what violations of storage regimes does “bone taint™ occur?

[ a.
O b.
O c

Storage in an unventilated room
Increased humidity
Hizh temperatures

[0 d. Bulkpacking

What is the peroxide number in fats of questionable freshness?

O a. 0,03

O b. 006-01
O c 0,03-006
O d 01-02
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What are anti-inflammatory hormones?

[ a. Hydrocortisone

[ b. Cortisone

[ ¢ Hypophysis chondrotropic hormone
[ d. Mineralocorticoids

[ e. Thyroxine
1 f. Corticosterone
J = Insulin

Diapedesis is:

[J a. A pathological condition resulting from a defect of the interaction of blood clotting

systems and fibrinolysis

[ b. Penetration of erythrocytes through the capillaries wall and small veins into

surrounding tissues

[ ¢ Common bleeding into the skin or mucous membrane

[J d. Thecirculation of the blood of the particle (substrate), which is not inherent in the
normal vital activity of the body, which can cause the closure of the lumen of the vessel

[ e. One ofthe types of bleeding occurs by the exit of blood corpuscle through the intact
wall of blood vessels (capillaries, venules or arteriocles)

Central paralysis is characterized by:

[ a. Theappearance of pathological reflexes
[J b. Increasedtendon reflexes
1 c. Increased muscle tone

1 d. Complete loss of motion

1 e. Trophicdisorders are less and rare than with peripheral paralysis

Hypophysis cachexia is characterized by:

1 a. Adrenal atrophy

[ b. Hypoglycemia

[ c. Parathyroid glands atrophy
[ d. Brain hemispheres atrophy
[ e. Hypotension

[ f. Genital glands atrophy

The main etiological factors of endocarditis are:

[ a. WVitamins deficiency

[ b. Minor nutrient elements deficiency
[ . Secondary disease of toxic nature
[ d. Major nutrient elements deficiency

1 e. Secondary disease of infectious nature
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Malignant tumors are NOT:

[ a
O b.
O c
O d.
[ e

Adenoma
Fibromyoma
Cancer
Papilloma

Sarcoma

What are the forms of cell death?

O a
O b.
O .

O d.

Drhstrophry
Mecrobiosis
Apoptosis

Mecrosis

Choose the forms of fibrinous inflammation:

O a

O b

O c

O d

Which ones of the following pathological changes may occur in the pathology of the heart?

Oo00d
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Croupous inflammation
Productive inflarmmmation
Diphtheritic inflammation

Aphthous inflarmmation

Libman-5acks disease
Myocardosis
Malignant endocarditis
Myocardial infarction

Myocarditis

What can castration cause?

Increased basal metabolismiin animals

LUInderdevelopment of the penis in males, uterus and its appendages in females

Reduction of feed costs
Animals become more calm and obedient,

Improving the taste of meat



